Virginia High School League

Scholastic Bowl, 2001-02 season

State Competition, Match #9

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the State level. Shawn Pickrell and Adam Fine are the authors of these questions.

All participants and spectators must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the State competition before all State champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all State champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia. This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1.
Subaerial, gravity, and fluvial are three types of what general geologic process, the wearing away of rock materials from the Earth’s surface?

ANSWER:  erosion
2.
If a school’s entire quizbowl team has ten members, how many different groups of four members can be chosen from the team?

ANSWER:  210
3.
What new name did Amenhotep IV assume when he started his attempted reforms of the Egyptian state religion to become monotheistic, and worship the sun-god Aton?

ANSWER: IKHNATON or AKHENATON
4.
James Barrie wrote a play about what adolescent who is whisked to Never-Never Land and therefore will never grow up?

ANSWER: PETER PAN
5.
In the face of multi-million dollar lawsuits, this Potomac, Maryland-based church is threatening to shut down and has already filed Chapter 11 bankruptcy proceedings. What is this church, known for its members with shaved heads that pass out flowers at airports?

ANSWER: HARE KRISHNAs or INTERNATIONAL SOCIETY FOR KRISHNA CONSCIOUSNESS
6.
The bequerel is the SI unit of what measurement, which is also measured by the curie?

ANSWER: RADIATION or RADIOACTIVITY
7.
Who was the victor at the battle of Hastings?

ANSWER: WILLIAM THE CONQUEROR or WILLIAM I
8.
He wrote the libretto for the opera “The Devil and Daniel Webster,” but which American poet won a Pulitzer in 1929 for his epic about the Harper’s Ferry raid, “John Brown’s Body?”

ANSWER:  Stephen Vincent Benet (ben-AY)

9.
What number replaces B in the equation x³ + Bx² + 48x + 64 = 0 in order to make the polynomial a perfect cube?

Answer:  12
10.
She now plays teacher Ronnie Cook on “Boston Public,” but what actress gained fame for her role on “Star Trek: Voyager” as the Borg Seven of Nine?

ANSWER:  Jeri RYAN
11.
What is the seven-letter word that can refer to a flat-bottomed glass which has no stem, handle or foot, or to an acrobat or gymnast?

ANSWER: TUMBLER
12.
Jason Shepherd writes an essay for school; somehow, sleazy Hollywood producer Marty Wolf turns Jason’s idea into a hit movie, and Jason and his friend Kaylee travel to L.A. to claim credit.  This is the plot of what 2002 film starring Paul Giamatti, Amanda Bynes, and Frankie Muniz?

ANSWER:  BIG FAT LIAR
13.
A lattice point is a point in the coordinate plane with what kind of coordinates?

ANSWER: INTEGER points (accept equivalents)

14.
In the procedure, a fine needle is used to suck out a sample of fluid that bathes the fetus in the uterus.  Usually done during the second trimester, doctors perform what test on pregnant women to check for abnormalities such as Down syndrome and birth defects?

ANSWER:  amniocentesis
15.
What is the Spanish word used to describe a group of people who come together to form a government, especially after a revolution or coup d’etat?

ANSWER: JUNTA
Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.

1A.
In the poem by Coleridge, where did Kubla Khan dictate his stately pleasure-dome?

ANSWER: XANADU
1B.
It must contain a place for ritual ablutions, a minbar from which the khatib can speak, and a mihrab where an imam can stand.  What is the public place of worship for Muslims, which must also face east toward Mecca?

ANSWER:  mosque
2A.
A gear problem which causes the vehicle to move even when the gear shift is in park is causing DaimlerChrysler to recall 1.6 million of what SUV?

ANSWER: JEEP CHEROKEE (prompt on partial answers)

2B.
The Black Mountain School, the Connecticut Wits, and the Fugitives were all American groups who wrote in which literary genre?

ANSWER:  poetry (or poets)

3A.
What was the name of the first child born to English parents on American soil?

ANSWER: VIRGINIA DARE
3B.
When a stock buyer buys a stock and hopes the price will go down so he can make a profit, he is said to be engaged in what kind of selling?

ANSWER: SHORT selling

4A.
Wheel and axle, screw, pulley, wedge and inclined plane are the five types of what work-saving implement?

ANSWER: SIMPLE MACHINEs

4B.
What name is given to a line segment whose endpoints are both on the circumference of a circle?

ANSWER: CHORD
5A.
The Koch snowflake, Sierpinski triangle and Mandelbrot set are examples of what construction in geometry?

ANSWER: FRACTALs

5B.
What name is given to a nuclear reactor that produces more fissionable fuel than it consumes?

ANSWER: BREEDER
6A.
What four-letter word can alternately refer to a protective headgear or to the steering wheel of a ship?

ANSWER: HELM
6B.
Tezcatlipoca was the god of darkness for which Mesoamerican people who flourished from the fourteenth to sixteenth century and had their capital at Tenochtitlan?

ANSWER:  Aztecs
7A.
In 1834 Fox Talbot invented what reverse photographic image, which, when printed, is again reversed, restoring the original scene?

ANSWER:  negative
7B.
What is the third person singular feminine possessive pronoun?

ANSWER: HERS
8A.
The Crimean war was an alliance of Britain, France and Turkey against what country trying to wrest control of the Crimea from Turkey?

ANSWER: RUSSIA (don’t accept Soviet Union)

8B.
Who was the Chief Justice that wrote the majority opinion in the Dred Scott case?

ANSWER: Roger TANEY
9A.
What name is given to an atom or group of atoms which contain one or more unpaired electrons, and are therefore very reactive?

ANSWER: RADICAL
9B.
THIS IS A COMPUTATION QUESTION. What is the difference in area, in square inches, between squares of 14 and 11 inches per side?

ANSWER: 75 square inches

10A.
An Indian tribe was used as the inspiration for the name of what popular, free web server?

ANSWER: APACHE
10B.
Andrew Ellicott Douglass laid down the principles of what specific branch of science that uses tree ring widths and patterns to date structures and events?

ANSWER:  dendrochronology 

Third period: 15 tossups
1.
The most common type is IAA, or indoleacetic (in-doh-lee-a-CEE-tic) acid.  Which hormone, along with gibberellin (jib-ur-ELL-in), promotes stem and root growth in plants?

ANSWER:  auxin (OX-in)

2.
An equals sign with a tilde above it implies what relationship between the two geometrical objects on either side?

ANSWER: CONGRUITY or they are CONGRUOUS
3.
Who was the attorney that argued against William Jennings Bryan during the Scopes “monkey trial”?

ANSWER: Clarence DARROW
4.
What 4,200-student university in Greenville, South Carolina, run by a very conservative Protestant group, is now making active efforts to recruit minority students, a follow-up to its dropping a ban on interracial dating in 2000?

ANSWER: BOB JONES University

5.
The novel Pride and Prejudice is centered on the members of what family?

ANSWER: BENNET
6.
Rene Descartes invented what type of geometry that unified the study of algebra and geometry?

ANSWER:  ANALYTIC geometry

7.
With scientific name Poa pratensis, it was introduced from Europe to the United States, and was at first called June grass.  What type of grass is used for horse pastures, especially in Kentucky?

ANSWER:  bluegrass
8.
Tommy played the trombone, while his brother Jimmy played the clarinet.  What is the common surname of this pair of swing era big-bandleaders from Shenandoah, Pennsylvania, also the name of the current national-champion college quarterback? 

ANSWER:  Dorsey (quarterback’s first name is Ken)

9.
The Lateran Treaty was signed in 1929 between Italy and what other country, guaranteeing that country country independence and sovereignty over some 100 acres in Rome?

ANSWER: VATICAN CITY or HOLY SEE
10.
Thomas Jefferson dismissed her work as “below the dignity of criticism;” however, George Washington offered her praise for her Poems on Various Subjects, Religious and Moral.  Who was this slave and poet, considered the first African-American female writer?

ANSWER:  Phyllis Wheatley
11.
He was conductor of the Boston Pops Orchestra from 1980 to 1995, but which composer has made his name by composing music for motion pictures, such as “Home Alone,” “Raiders of the Lost Ark,” and “Star Wars?”

ANSWER:  John T. Williams
12.
In a story similar to Cyrano de Bergerac (BURR-zhur-ac), the main character, who does not converse well with women, asks John Alden to approach Priscilla Mullins on his behalf.  Alden of course falls in love with Priscilla himself in what 1858 Longfellow poem about a Puritan military leader?

ANSWER:  “The Courtship of Miles Standish”
13.
If Set A contains the numbers 8, 10, 12, and 15; Set B contains the numbers 2, 4, 6, and 8; and Set C contains the numbers 3, 15, and 27, what is the intersection of A with B-union-C?

ANSWER:  8, 15
14.
Within a thousand, how many square miles are in Virginia?

ANSWER: 38,598 to 40,598 (answer is 39,598)

15.
What is the name of Pluto’s only satellite?

ANSWER: CHARON
SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.

1.
What Greek letter is used as shorthand notation for writing very lengthy sums?


ANSWER: uppercase SIGMA
2.
In the novel 1984, who is the woman Winston Smith has an affair with?

ANSWER: JULIA (no last name is given.)

3.
The Chrysler Building and Radio City Music Hall are architectural examples of what style that flourished from 1910 to 1940 and stressed stylized symmetrical and geometric forms?

ANSWER:  Art Deco
4.
He was appointed director of Los Alamos in 1942, and served as chairman of the General Advisory Committee of the Atomic Energy Commission between 1947 and 1952. Who is this man that is considered the “father of the atomic bomb,” but later lost his security clearance?

ANSWER: J. Robert OPPENHEIMER
5.
Alabaster is a fine-grained form, and it is used as a raw material in plaster of Paris.  Which white calcium sulfate mineral has a hardness of 2 on the Mohs scale, only slightly harder than talc?

ANSWER:  gypsum
All questions copyright 2001 by Shawn Pickrell. Unauthorized use, as described on the first page of this document, is prohibited.


